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Evaluate the following: 3x? +3x -6 for x=1 and x=-2
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ex: (X-2XRrs)=0
m

| x2_13x+36=0
o MI\&w@g‘p&l@ y“@,mi a‘-\ v:-\3 3L

2. Factor (don't forget the GGF) _ u’ a:c =\-3

3. Set each factor éden T‘o zero and - )k }L 3{%

solve
. 2& I V2
=13

,L\\Q(——d\\ D b 6=12

f\;di&\ 3 a §u.a8
x=1 X=

ge also c Antercepts, roots, or Zeroes.

_1 4. ex?+5--17x |
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Factor it to

the outside of e T

inside the

2 ) , Factor using
Istherea . the box.

No —E difference of

Find two factors that
multiply to get AC

. and add to getB Write your
Factor using factors as
square roots

Don't forget to
write your GCF
mfront of
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Algebra I — Unit 8: Solving Quadratics by Factoring
Student Practice — Solving Quadratics by Factoring

Name Date Period
Solve the equations below by factoring.

1. (x+3)x-7)=0 2. (Bx-2)(4x-3)=0
3. x*-169=0 4. 4x* -12x+9=0
5 X =8x-16 6. 1247 —1=—x

7 X +2x=15 8. 2x* =-4-6x
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Algebra I Unit 8- Solving Quadratics by Factoring

9. Which equation best represents the graph shown?

(x-2x+1)=y :
(x+2)x+1)=y
(x+2)x-1)=y
(x-2x-1)=y

o0 m >

10. The area of a rectangular floor is described by the equation w(iwv —9) = 252 where wis the width of the floor in
meters. What is the width of the floor?

11. A group of friends try to keep a beanbag from touching the ground without using their hands. Once the beanbag

has been kicked, its height can be modeled by A =-16¢ +14¢f + 2, where f is the height in feet above the
ground and tis the time in seconds. Find the time it takes the beanbag to reach the ground.

12. The length of a rectangle is 3 cm more than the width. The area is 70 square centimeters. Find the dimensions
of the rectangle.
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A 1&2. These quadratics are already factored. Set each factor equal to
{ zeroand solve for x! 1.
4| 3 Thisisa difference of squares: a.2- b - (a-b)a-b) 2.
{4 &€ X _ =3 5 12(-1) Uy =1 ()0
.3 2], (2}—3)'(77(’3)30 - 3
4 Y N it e I |2x |up-120 '
w30, o2 -3|4=1 +oH

A ~3pbx| 9| 3 -3\ HiAg |- d=L [4 x=
j %’ % — 120 44
1 5. Move everything to one side! IXNT] =yl 5 X
i 7. Factors of -15 that add to 2 are -3 and 5. .t ’% 149 6. x:
#] 8.Factor out a 2 before you start! 3 4'3 S
| 9. Your FAGTORS will always have opposite signs than the x-intercepts. 8. ;
E So if your x-intercept is 1, your factor would be (X - 1) 9' é '

10. Distribute w to the parenthesis and subtract 252 fromboth sides. | 75 751 meters
-{ The factors of -252 that add t0 -9 are 12.and-21. Once you solve for w, 11. 1 second
¥ remember that you can't have a negative width w = 7cm

11. Factor out a negative 2. Your answer should be 1 second. " | —10cm
A 12. Area - length x width. Your quadratic should be 2+ 3w - 70 - 0.
1 Factor, solve, and don't forget to also find the length!
v
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